2 AR B 5t s lygseEARR
= = quy | SHE | 52
B8 AT of & o
2 A 48,847,711 | 34,421,466 | 14,426,245
600 A9l 15,416,591 | 11,126,941 | 4,289,650
610 I+ 5,910,026 | 5,698,900 211,126
611 ARBZ4 5,760,026 | 5,548,900 211,126
02 7M4EstrEAER 1,774,284 1,608,018 166,266
0 StrEAEETY 10,7983 x 13,6938 x 1270 = 1,774,284
06 LeESITEAEZ 3,782,221 3,630,954 151,267
0 StrEAEESTY 100,186% x 3,146 x 1271& = 3,782,221
08 CHSEEstrAE= 74,439 140,203 A65,764
o StrEAIEE Y 563,932% x 1138 x 1270€ = 74,439
10 MLLSYESITEAIER 52,888 56,316 A3,428
0 StrEEAEESTY 200,3379 x 228 x 1274€ = 52,888
12 J|EfeteEAER 76,194 113,409 A37,215
o StrEAEETY 211,652% x 30 x 1270€ = 76,194
661 7|EtI Y42 150,000 150,000 0
03 7[ErrEsY 150,000 150,000 0
o A 2|AlE 22| 12,500,000 x 12& = 150,000
670 FYA-Y 9,506,565 5,428,041 4,078,524
671 O|R< 70,000 70,000 0
01 Oz0/2t+¢ 70,000 70,000 0
0 0lz0I1t & +¢ 70,000,000 = 70,000
672 ERAdY =+ 9,422,365| 5,344,041 4,078,324
01 LEEAMYs 3,790,599 0| 3,790,599
O SE7|=2A14 22| UtR(EE 3,136,385,000 = 3,136,385
O s&dtrze|Ald 7lsH(se], 274, 24 167,995,000= 167,995
O @2, 227 ste2 7=t 86,219,000 = 86,219
O ste2t2 248 € RAES ALY 400,000,000 = 400,000
02 EIEZeAMY= 5,631,766 | 5,344,041 287,725
O +ANHELSA HYa 5,631,766
o EE7|=AlE 23| 5,324,645,000 = 5,324,645
o §l2| 274 22|+ stz J| sy 307,121,000= 307,121
679 7IEtE YLl 14,200 14,000 200
01 7ZIEIti+¢Y 2,000 1,800 200
0 SRALALEZ 2,000,000 = 2,000
04 HdzydzsY 2,200 2,200 0
o Hys ¢ 2,200,000 = 2,200
09 7IEtEYesY 10,000 10,000 0
o 7|E &+ 10,000,000 = 10,000
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486,000,000 =

TESSstee|AlE E2AHY

6,198,000,000 =

1,639,000,000 =

100,000,000 =

12|Ald SEAR (221

1,075,000,000 =

22 Ald SEARK (12

843,000,000 =

A2|Ad SEAG (221

254,000,000 =

tr2lAld SEARE (12

275,000,000 =
1,334,000,000 =
1,298,000,000 =

16,582,800

486,000

6,198,000

1,639,000

100,000

1,075,000

843,000

254,000

275,000

1,334,000

1,298,000

1,260,000

378,000

328,000

100,000

372,000

500,000
142,800

16,582,800

7,208,600

9,374,200

=) 1,260,000,000 =

& 378,000,000 =

HIAMY 328,000,000 =

HIAMY 100,000,000 =
2 YHIALY

372,000,000 =

500,000,000 =

LEARARR) 142,800,000 =

dYs
343,200,000 =
181,000,000 =

5,248,290
343,200
181,000

10,805,020

10,425,800

379,220
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o A2YeY o A=YolsrY MEERAUER

Za2Y = ERAHEERZ Y
= = AF o4
H-g-Hg-F
o (Bt-RZZH) S st 2 FHIAIY (2HA) 324,000,000= 324,000
o (Bt UZYH))EH LA 4H =SU2 FH[AIY
127,000,000= 127,000
o (St 2YH|)7FE S Stet= FHIATY 97,200,000 = 97,200
o (GH-R2HH)YEH S22 FB|AY 196,800,000= 196,800
o (otrEZZH|)HAH st FHIALY 199,800,000 = 199,800
o (StrHZYH)ZZH =S TUZ FH|AIY 40,200,000 = 40,200
o (otrRZFH)IMES o2tz FYRAH22HR) 57,120,000 = 57,120
o (trHZZH)2Y, 4T otrtE YHIAIY 124,800,000= 124,800
o (ot &3)de| St AESHAIE (1)
149,000,000 = 149,000
o (otrA2| &3) RISt A DS HAIA(12))
25,800,000 = 25,800

276,600,000 = 276,600

216,600,000 = 216,600

723,600,000 = 723,600

o (St+2{2|y &#F) 2P LT 2SSt A ESEAIGE(12)

109,800,000 = 109,800
o EE7|=AlE thieid 1,541,710,000= 1,541,710
0 BAARD ZEGAR 2| AN H2AY 514,060,000 = 514,060
O YetaA M2 2,556,730
o (Bt4H21Y #2) RIS ot4 2| A LS HAR (13

1,128,100,000 = 1,128,100

o (st22|d &3 trasoteA2| Al 2SEAIE (12

8,600,000 = 8,600

o (Ste2{2|y &)Y ES St AIESEAY (A
92,200,000 = 92,200

o (5tr22|Y &3)MeE S22 A 2SEAIE (121
72,200,000 = 72,200

o (Bt 2l &3) DS S22 A LS EAA2)
241,200,000 = 241,200

o (Btr22|d &F) YL 2SS 2| A E2S2AF (1)

36,600,000 = 36,600
o (SheH2YH)YE, 2 st GHIAIY 228,800,000= 228,800
o (Str-RZYH)) 2| AR Sted= YH|AY 375,000,000 = 375,000




[ 7F8Zste=Ar e ] (CHel - ¥
oAy o AEYogrY MY ERIAAEEZS4Y = ERAdEdERE Y
1 =2
o (Gtr22YH|)SH St 2 YHIALY (2THA) 216,000,000= 216,000
o (Str22YH|)7HES ot 2 YH|ALY 64,800,000 = 64,800
o (Gte-2YH)SH A JH L S5l+U2 U ALY
318,000,000 = 318,000
o (Gtr2A2YH))YBY o5t 2 GH|ALY 131,200,000 = 131,200
o (GtrA2YH)ZIH =o5te22 FH|AIY 13,400,000 = 13,400
o (Ste-22YH|) 24 StrY2 YH|ALY 133,200,000= 133,200
o (Gt+A2YH))7HEE =&5te22 JUZARALE)
38,080,000 = 38,080
o (5012 DrEste= YH|) 29, 4 St =2 FHAIY
41,600,000= 41,600
o YT th g2 £244H2| LY 2422 d2SAR2ST)
100,000,000 = 100,000
0 SORER 42045 2422 H2|SAH2TZH 400,000,000 = 400,000
o BE7|=AIE thad 467,750,000 = 467,750
o t22| S HEE 28 SN ALY 400,000,000 = 400,000
0 2TUSYRE 2GAY 1,050,000,000 = 1,050,000
03 A=HEZZ4Y 1,743,300 401,900 | 1,341,400
O Al=HEZ234¢ 1,743,300
0 (501& OtSotee YH)SrLn2ESste2e|A 2 d2[AY
645,600,000 = 645,600
o (501Z OtSote YH)2Y, 4 St 2 GH ALY
41,600,000= 41,600
o (Bt 2Y &3)elsSdtr22|Ald SEAR(1A)
141,900,000 = 141,900
o (Bt22y E3)MRESdtee|Ald SEAL(12)
8,600,000 = 8,600
o (Bte22d &)Y Basstre|Ald SEAR(22)
92,200,000 = 92,200
o (Bt22l &3)MotsSdtr2|Ald SEAG(12)
72,200,000 = 72,200
o (Bt 2lY ) UPS S22 AlE SEAIR (23
241,200,000= 241,200
o (Bt22d #3)2F LTRSS 2 AlE SEAH(12)
36,600,000 = 36,600
o (GtrA2YH)Z2TH = o5te22 GH|ALY 13,400,000 = 13,400
0 STUSYRE ZYAMY 450,000,000 = 450,000
180 /2212 3,300,000 | 4,258,225| ~958,225
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2] =) g aoy | FEE | =

3-3-HME-5 = of Ao | S
181 &MAIYAZ 3,300,000 4,258,225 A958,225
01 &=MAYY 3,300,000 4,258,225 A958,225
O &=MAYAZ 3,300,000,000 = 3,300,000




